xty=4, xy=-2L 0, x*+y* 9

@ 5 @ 10 ® 15



a-b=-2,ab=4 9™, a®+b* 9] F2?

@ 8 @ 12 ® -4 @ -7 ® -15



3. x+y=5x>+y> =134 ], xy & 727

@ -6 @ -12 @ 4 @ 6 ® 12



4. x-y=5x>+y?=9< o, xy2] 3t2?

@ -5 @ -8 ® -10 @ -12 ® -14



@o2x =1, 224 - o gk Fafedet,
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@® 2012 = (a-b)?

@ 499° = (a+b)?

® 997 = (a+b)(a-b)

@ 103x97 = (ax+b)(cx+d)

® 104%x105 = (x+a)(x+b)



7. x+y=3 xy=29m x*+y* 9 327

® 15 @ 16 3 17 @ 18 ® 19
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x+y=3, xy=—-4 L, x?+y*—xy 2 G27

® 18 @ 19 @ 20 @ 21
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10. x=a(a+5) <L ™, (a-1)(a+2)(a+3)(a+6)=xof T3t AOZ
LHERH T ?

@ x%2-36 @ x*2-6 ® x*+6

@ x>+ 36 ® x2-12x+36



11.

(x =y +2)(x+y+2) &AM A8l 7P

O {(x+y) -z} {(x+y) +2}
@ {(x=y) =z} {(x+y) -2}
® {x-(+2}{x+ (-2}
@ {(x+2)-y}{(x+2)+y}
® {(x-2)-y}{(x-2)+y}

orar
=2 =

N



12, (2x-3)(2x+y-3)= AN AL27

® 4x>-6x-3y+6 @ 4x% -12x+2xy -3y +6
® 4x> - 12x+2xy -3y +9 @ 4x®> -12x +6xy -3y +9

® 4x> - 12x+4xy -3y +9



13. (x-y+2)(x—y-3)= AMsk=dl 71 Adset 420

@ {(x—y)+2{(x—y) -3} @ (x=(+5)Hx—-(y-3)}
® {(x+2) - yH{(x—3) -y} @ x-(+2)Hx-y) -3}
® {(x—y)+2Hx-(y-3)}
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O 18x% +36x+3 @ 36x%2+18x+3
® 42x> +18x -2 @ 42x% +24x -2

® 42x% +36x -2
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® 20x%-5x-3 @ 2062 -5x+3 ® 28x%> +5x-3

@ 28x2-5x-3 ® 28x2+5x+3
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17. x+y=9, xy=3 & o, ¥ +y% - xy 9] F2?

® 52 @ 56 ® 60 @ 72 ® 80



@ 25 ® 7 @ 5 ® 10
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20.

ohg % Fol o] Akt el 8] ste] o8
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® 912 - (a+b)? = a® + 2ab + b*
@ 597 - (a - b)? = a® - 2ab + b?
@ 1032 > (a + b)? = a® + 2ab + b
@ 84x75— (a+b)(a-b)=a®-b*

® 50.9%49.1 = (a+b)(a-b) = a*> - b*
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21. o= A= Altstolzt

7(84+1)(82 +1)(8* +1)-88




22.

(a+b)(a-b) =a?-b*> = 0|85t A

@ 18x22

@ 302 x 403

@ 51 x 52

® 1032



23.

(a+b)(a-b) =a?-b*> = 0|85t A

O 1982

@ 101 x 103

@ 1012

® 203 x 302

® 47x53



24, (x-2)(x=1)(x+ 1)(x+ 2) oAl x% 9] Al4F Fotoi=t
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25. (x+1)(x+2)(r- 3)(x—4) & ARAANA x2 ] ASE?

O -12 @ -7 ® 3 @ 6 ® 8



26. (2x-3y+1)>9 AAACNA o] A%S 4, yo| ASE B 2} 5}
A-Bo| 3e Fafolat.
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27. Bx-2y+ 1= AN Ao ] AlrE A,y A-E BT
o, A~ B2 27

@ 8 @ 4 ® 0 @ —4 ® -8
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29.

(4x% =3x+2)(3x3 4 5x% + 7) = A2 ),
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32. (x+y-5)(x—y-5)% AAshen 7P AAe AL

@ {(x+y) - 5H(x-y) -5} @ {x+(-5Hx-(+5))
® {(x=5) +yH(x=5) -y} @ {x+(y-5H(x-y) -5}

® {(x+y) +5H(x—y) + 5}



33. o= AMA FollM &A g2 A7

—x=y)? = x4 2xy +y?

2x +y)(y — 2x) = —4x% + 2

2x + 3y)(=5x + 4y) = —10x% + Txy + 12y?

© ® © © ©

(
(
(x=3)(x+5) =x2+2x - 15
(
(

3x—2)(x—y)=3x% - 3xy—2x+2y



DO (x+3)2=x*>+9
IR 1
@ (x-3) —#-gr+7

@ Bx+1)2-2(x+1)(x= 3)=7x2+10x+7
1 1 1

@ (a+5) (a-5)=a+5

® (3x+5)(2x-7) = 6x2 + 31x— 35



